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M 2R P = AL WHEE WE S
EaPIPN REAHH CLH16A A 19 10 190
ESavIPS RBAHLH CZ%20A A 19 15 285
SEvIPS RBAXUR CZK%20A A 33 10 330
TRIFR R EIXUAR CZ%32A A 34 15 510
TEIFR R EIXUAR CZR63A A 41 10 410
TARIFR RII=H% CZ32A A 47 10 470
TEIFR R =% CZH63A A 49 15 735
i FLTT G R BAEAR CZR16A A 46 10 460
Je HLIT % R BAEAR CZR20A A 47 20 940
e FLIT % RBAXUAR CZ%16A A 65 10 650
Je HLIT % RBIXUR CZ420A A 66 30 1980
17 1R B 10A=FL A 14 20 280
17 1R B 16A=FL A 18 20 360
17 12 B E 10A T L A 15 20 300
] R 2% PRYT HLG. 52 K 2.5 200 500
] PR 2% PRYTHLE2. 52 K 3.5 800 2800
] FL 2K ERYT HLE42 K 5 800 4000
] FL 2K ERIT 2 10562 K 8 400 3200
] FL 2K, BRIT 2305102 K 9 200 1800
ML TR AR 5 3 70 210
oy KJE 50%500 (& 18 54
FLiy KJE 50%300 £ 15 75
Ly KJE 50%200 £ 14 70
JRAE S ) Kk 3 53 4 20 80
JRRAE S el Kk 4.2 X 5 20 100
JRRAE S ) K 6 X 7 20 140
JRAE G el Kk 8 3 13 20 260
AL 2l 7k 10 % 22 20 440
JRAE AL el R 12 % 25 10 250
e % 10 20 200
sk % 15 30 450
Eapi % 11 30 330
PVCHE sk ¥R 4%y A 1 20 20
PVCE 3k ¥R 4%y A 1 30 30
PVCH il ¥ 4%y A 1 30 30
PVC=j# B 44y A 1 20 20
PVCE B 44y % 10 20 200
PVCE B 64y % 12 20 240
FAIE D 45y A 19 30 570
7Kk 445y A 32 30 960
ISR R 45y % 13 30 390
/ME K R 45y A 52 30 1560
Bl IR YA39 % 12 15 180
Hiy 2R IEYA39 2% 14 15 210




LED Y5 B 120WER A 20 10 200
LEDY 35 M HE20WKT 4% A 16 40 640
LEDY¢J8 5 HE3OWT 4k A 23 20 460
TS 1. 22K 40w 1. 2K 40w % 22 10 220
T8AT450. 620w 0. 6K20w % 15 30 450
1222 5T s 3. 5%20 & 17 3 51
1222 45T &I 3.5%40 & 11 3 33
AT S 2. 0%20 = 11 3 33
AT FEH3. 1340 = 11 2 22
AT T 513, 8%60 = 11 1 11
A3 8cm A 5 10 50
K3 6cm A 5 10 50
S HIE 8cm A 4 15 60
S HIE 6em A 3 15 45
A 8cm K 4 20 80
FHAE 6em S 3 20 60
TR —H)E A 7 20 140
] 308 A 66 15 990
BRAEN £ A 36 15 540
B T 7 AHH 500ml1 i 10 20 200
1R 125C A 46 30 1380
JII S K Sk i £ 150 5 750
Bt 33734




